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3. It was very important to use dry glassware during the Grignard synthesis of triphenylmethanol
because-

a) Bromobenzene might react with water

b) The Grignard reagent might react with water
c¢) Benzophenone might react with water

d) None of the above

5. Carbon-carbon double bonds do not undergo rotation as do carbon-carbon single bonds. The
reason is that:
a) the double bond is much stronger and therefore more difficult to rotate
b) Overlap of the sp” orbitals of the carbon-carbon o- bond would be lost.
c) Overlap of the carbon-carbon m bond would be lost.
d) The shorter bond length of the double bond makes it more difficult for the attached groups to
pass one another.

7. What happen if the organic acid and alcohol (and nothing else) were refluxed together in an
esterification reaction?

a. the equilibrium would favour the starting materials

b. the equilibrium would be reached rapidly

C. very little ester would be formed and equilibrium would not be reached

d. none of the above

11. What is the correct product of the following reaction?
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13. In the above molecules, the relationship between molecule (iii) and (iv) is:
a. GEOMETRIC ISOMERS
b. STRUCTURAL ISOMERS
c. ENANTIOMERS
d. THEY ARE THE SAME MOLECULE

14. In the nitration of aromatic rings, nitrochlorobenzene was recrystallized from 95% ethanol.
Why?
a. The product is insoluble in 95% ethanol
b. The p-form crystallizes out of solution while the 0- form remains soluble in ethanol
c. To have more pure crystals
d. The o-form crystallizes out of solution while the m- form and p- form remain soluble in
ethanol

18.  Aldehydes and ketones react with semicarbazide to produce semicarbazones:


James R Green

James R Green

James R Green

James R Green


N

C=—0 + H,NNHCONH, = C NNHCONH, + H,O
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From the pairs of reactants listed below which should react more rapidly with semicarbazide:

Benzaldehyde or 4-nitrobenzaldehyde
3-pentanone or cyclohexanone
cyclopentanone or 2-chlorocyclopentanone

a) benzaldehvyde, cyclohexanone. 2-chlorocyclopentanone

b) 4-nitrobenzaldehyde, cyclohexanone, 2-chlorocyclopentanone
c) benzaldehyde, 3-pentanone, cyclopentanone

d) 4-nitrobenzaldehyde, 3-pentanone, cyclopentanone
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